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QUESTION 1

If the reported packet loss is between 50% and 98%. which status is assigned to the device in the Availability column of
summary dashboard?

A. Down status is assigned because of packet loss.

B. Up status is assigned because of received packets

C. Critical status is assigned because of reduction in number of packets received
D. Degraded status is assigned because of packet loss

Correct Answer: D

QUESTION 2

What are the four categories of incidents?

A. Devices, users, high risk, and low risk

B. Performance, availability, security, and change
C. Performance, devices, high risk, and low risk
D. Security, change, high risk, and low risk

Correct Answer: B

QUESTION 3

To determine SNMP discovery issues, which is the best command from the backend?
A. snmpwalk

B. phSNMPTest

C. snmptest

D. ssh

Correct Answer: A

QUESTION 4
What protocol can be used to collect Windows event logs in an agentless method?

A. SSH
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B. SNMP
C. WMI
D. SMTP

Correct Answer: C

QUESTION 5

Refer to the exhibit.

i
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An administrator is trying to identify an issue using an expression bated on the Expression Builder settings shown in the
exhibit however, the error message shown in the exhibit indicates that the expression is invalid.

Which is the correct expression?
A. Matched Events COUNT()
B. Matched Events(COUNT)
C. COUNT(Matched Events)
D. (COUNT) Matched Events

Correct Answer: C
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